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SOCIAL  SCIENCE

lkekftd foKkulkekftd foKkulkekftd foKkulkekftd foKkulkekftd foKku
Time allowed : 3 hours ]  [ Maximum Marks: 80
fu/kkZfjr le; % 3 ?k.Vs ]  [ vf/kdre vad % 80

General Instructions :
(i) Answer to questions carrying 2 marks should not exceed 30 words each.
(ii) Answer to questions carrying 4 marks should not exceed 60 — 80 words each.
(iii) Answer to questions carrying 6 marks should not exceed 100 — 125 words each.
(iv) Maps should be securely tied in the middle of the Answer-Book.
(v) Attempt all parts of a question together.
(vi) Stencils or templates for drawing outline maps may be used wherever necessary.

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %
(i) 2 vadksa okys izR;sd iz'u dk mÙkj 30 'kCnksa ls vf/kd u gksA
(ii) 4 vadksa okys izR;sd iz'u dk mÙkj 60 ls 80 'kCnksa ls vf/kd u gksA
(iii) 6 vadksa okys izR;sd iz'u dk mÙkj 100 ls 125 'kCnksa ls vf/kd u gksA
(iv) ekufp=kksa dks mÙkj&iqfLrdk dh chp esa etcwrh ls ckaf/k,A
(v) fdlh iz'u ds lHkh Hkkxksa ds mÙkj lkFk&lkFk nhft,A
(vi) tgk¡ dgha vko';d gks LVSaflyksa vFkok lkapksa dks js[kk&ekufp=k cukus ds fy, bLrseky fd;k tk

ldrk gSA

Roll No.

Series : RKM/1 Code No. 32/1/1

Candidates must write the Code on
the title page of the answer-book.jksy ua-

dksM ua-dksM ua-dksM ua-dksM ua-dksM ua-

fo|kFkhZ mÙkj&iqfLrdk esa dksM ua- vo';
fy[ksA

Please check that this question paper contains 6 printed pages + 3 Maps.
Code number given on the right hand side of the question paper should be written on
the title page of the answer-book by the candidate.
Please check that this question paper contains 24 questions.
Please write down the serial number of the question before attempting it.

Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa eqfnzr i`"B 6 + 3 ekufp=k gSaA

iz'u&i=k esa nkfgus gkFk dh vksj fn, x, dksM uEcj dks Nk=k mÙkj&iqfLrdk ds eq[k&i`"B ij fy[ksaA

Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa 24 iz'u gSaA

Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ks aAÑi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ks aAÑi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ks aAÑi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ks aAÑi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ks aA
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1. Define the term ‘economic development’. State the two bases of measuring economic
development of a country. 1+1=2

^vkfFkZd fodkl* 'kCn dh ifjHkk"kk nhft,A fdlh ns'k ds vkfFkZd fodkl dks ekius ds nksnk snk snk snk s vk/kkjksa dk
mYys[k dhft,A

2. Who is a disabled person ? Give one example each of two types of disabilities. 1+1=2

fodykax O;fDr fdls dgrs gSa \ nksnk snk snk snk s izdkj dh fodykaxrkvksa dk ,d&,d,d&,d,d&,d,d&,d,d&,d mnkgj.k nhft,A

3. Write any four facts about tsunami. 4×½=2

lqukeh ds fo"k; esa pkjpkjpkjpkjpkj rF; izLrqr dhft,A

4. Explain how Indian industries and trade had been ruined under the British rule in the
eighteenth century. 2

fczfV'k 'kklu ds v/khu Hkkjrh; m|ksx vkSj O;kikj vBkjgoha 'krkCnh esa fdl izdkj rckg gks x, \

Li"V dhft,A

5. Explain any two main features of Harappan culture. 2×1=2

gM+Iiu laLÑfr dh fdUgha nk snk snk snk snk s eq[; fo'ks"krkvksa dks Li"V dhft,A

6. Name  the  northern,  eastern,  southern  and  western  nlost  stations  of Golden
Quadrilateral express national highway. 4×½=2

Lof.kZe prq"dks.k ,Dlizsl jk"Vªh; egkekxZ ds lqnwj mÙkjh] iwohZ] nf{k.kh rFkk if'peh LVs'kuksa ds uke
crkb,A

7. How do the means of mass communication play a vital role in creating awareness
among the people ? Explain. 2

tulapkj ds lk/ku fdl izdkj yksxksa esa tkx:drk iSnk djus esa egÙoiw.kZ Hkwfedk fuHkkrs gSa \ Li"V
dhft,A
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8. Identify and name the social reformer shown in the picture given below. State any
two contributions made by him. 1+1=2

Åij nh xbZ lekt lq/kkjd dh rLohj dks igpkfu, vkSj mldk uke fyf[k,A muds fdUgha nk snk snk snk snk s
;ksxnkuksa dk mYys[k dhft,A

Note : The following question is for the Blind Candidates only in lieu of Q.  No. 8.
uksV %uksV %uksV %uksV %uksV % fuEufyf[kr iz'u dsoy n`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 8 ds LFkku ij gSA

State any two contributions of Ishwar Chandra Vidyasagar in reforming Indian
society. 2×1=2
Hkkjrh; lekt ds lq/kkj esa bZ'oj pUnz fo|klkxj ds fdUgha nk snk snk snk snk s ;ksxnkuksa dk mYys[k dhft,A

9. ‘India is a multilingual country’. Justify the statement with two arguments. 2×1=2
^Hkkjr cgqHkk"kh ns'k gSA* nksnk snk snk snk s rdZ nsdj bl dFku dh iqf"V dhft,A

10. “Wells and tube wells are the most popular means of irrigation in northern plains of
India.” Justify the statement with two arguments. 2×1=2
^^dq,¡ vkSj uy dwi Hkkjr ds mÙkjh eSnkuksa esa flapkbZ ds lcls vf/kd yksdfiz; lk/ku gSaA** nksnk snk snk snk s rdZ
nsdj bl dFku dh U;k;laxr iqf"V dhft,A

11. “Health sector interplays the most significant role in human development.” Justify
this statement with two arguments. 2×1=2
^^LokLF; {ks=k dk ekuo fodkl esa lokZf/kd egÙoiw.kZ ;ksxnku gSA** nks nks nks nks nks rdZ lfgr bldh U;k;laxr
iqf"V dhft,A

12. Suggest two facts which should be borne in mind while selecting a site for a building
in coastal areas. 2×1=2
leqnz rVh; {ks=kksa esa bekjr cukus ds fy, LFkku dk p;u djrs le; /;ku esa j[kus ;ksX; nksnk snk snk snk s rF;
lq>kb,A

13. Describeany four characteristics of subsistence farming. 4×1=4
                       OR
Describe any four steps taken by the Government to improve Indian agriculture after
Independence. 4×1=4
vkRe fuokZg Ñf"k dh fdUgha pkjpkjpkjpkjpkj fo'ks"krkvksa dk o.kZu dhft,A
                   vFkok                   vFkok                   vFkok                   vFkok                   vFkok
Lora=krk ds ckn Hkkjrh; Ñf"k esa lq/kkj gsrq ljdkj }kjk mBk;s x, fdUgha pkjpkjpkjpkjpkj mik;ksa dk o.kZu dhft,A
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14. Describe any four  major problems faced by cotton textile industry in India. 4×1=4

Hkkjr esa lwrh oL=k m|ksx ds le{k mifLFkr fdUgha pkjpkjpkjpkjpkj izeq[k leL;kvksa dk o.kZu dhft,A

15. Describe two different approaches by which the number of the poor are estimated in
the country. 2+2=4

ns'k esa xjhcksa dh la[;k dk irk yxkus ds nksnk snk snk snk s fHké rjhdksa dk o.kZu dhft,A

16. “The revolt of 1857 marked a turning point in the history of India.” Support this
statement by giving four  facts. 2+2=4

OR
When was the Muslim League formed ? Explain its three main objectives.

^^1857 ds egkfonzksg ls Hkkjr ds bfrgkl esa ,d u;k eksM+ vk;kA** pkjpkjpkjpkjpkj rF; nsrs gq, bl dFku dh

iqf"V dhft,A

vFkokvFkokvFkokvFkokvFkok

eqfLye yhx dh LFkkiuk dc gqbZ \ blds rhurhurhurhurhu mís';ksa dks Li"V dhft,A

17. “Coal is the main source of energy as well as a raw material for industries in India.”
Support this statement with two facts for each. 2+2=4

^^Hkkjr esa dks;yk ÅtkZ dk eq[; lzksr gksus ds lkFk&lkFk m|ksxksa ds fy, dPpk eky Hkh gSA** izR;sd
ds fy, nks&nksnks&nksnks&nksnks&nksnks&nks rF; nsrs gq, bl dFku dh iqf"V dhft,A

18. How does communalism pose a threat to our national unity ? Explain. 1+3=4

lkEiznkf;drk gekjh jk"Vªh; ,drk ds fy, fdl izdkj pqukSfr;k¡ izLrqr djrh gS \ Li"V dhft,A

19. Explain the term ‘Veto’. Name any four countries which have veto power. 4×1=4

fu"ks/kkf/kdkj ¼ohVks½ 'kCn dk vFkZ Li"V dhft,A ohVks 'kfDr /kkjd fdUgha pkjpkjpkjpkjpkj ns'kksa ds uke crkb,A

20. How is disaster managed at different levels ? Explain with one example each, from
any four levels. 4×1=4
                           OR
Explain any four objectives of a search and rescue team.

vkink izca/ku fofHkUu Lrjksa ij fdl izdkj fd;k tkrk gS \ fdUgha pkjpkjpkjpkjpkj Lrjksa ls ,d&,d mnkgj.k
nsrs gq, Li"V dhft,A

                      vFkok                      vFkok                      vFkok                      vFkok                      vFkok

[kkst vkSj cpko ny ds fdUgha pkjpkjpkjpkjpkj mís';ksa dks Li"V dhft,A
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21. When was Indian National Congress founded ? Who played the most important part
in its formation ? Describe the main objectives of the Congress. 1+1+4=6

OR
Describe any six factors that were responsible for the rise of ‘extremism’ in India. 6×1=6
Hkkjrh; jk"Vªh; dkaxzsl dh LFkkiuk dc gqbZ \ bldh LFkkiuk esa fdlus lcls vf/kd egÙoiw.kZ Hkwfedk
fuHkkbZ \ dkaxzsl ds eq[; mís';ksa dk o.kZu dhft,A

vFkokvFkokvFkokvFkokvFkok
Hkkjr esa ^xjeiaFk* ds mn; ds mÙkjnk;h fdUgha N%N%N%N%N% dkjdksa dk o.kZu dhft,A

22. Why is the conservation of resources essential ? Explain any three measures of
conservation of resources. 3+3=6

OR
“Water is a very important and critical resource in India”. Support this statement by
explaining any three points of each. 3+3=6

lalk/kuksa dk laj{k.k D;ksa vko';d gS \ lalk/kuksa ds laj{k.k ds fdUgha rhurhurhurhurhu mik;ksa dh O;k[;k dhft,A
vFkokvFkokvFkokvFkokvFkok

^^Hkkjr esa ty cgqr gh egÙoiw.kZ vkSj ladVxzLr lalk/ku gSA** izR;sd ds fy, fdUgha rhurhurhurhurhu fcUnqvksa
dh O;k[;k djrs gq, bl dFku dh iqf"V dhft,A

23. Explain with suitable examples the impact of the expansion of business activities in
an economy. 6

OR
Why is the rise of consumer awareness essential ? Explain any four  measures to
protect consumers’ interest 2+4=6

fdlh vFkZO;oLFkk esa O;kikfjd fØ;k&dykiksa ds foLrkj ds izHkkoksa dks mi;qä mnkgj.kksa }kjk Li"V
dhft,A

vFkokvFkokvFkokvFkokvFkok
miHkksäkvksa esa tkx:drk mRiUu gksuk D;ksa vko';d gS \ miHkksäkvksa ds fgrksa dh lqj{kk ds fdUgha pkjpkjpkjpkjpkj
mik;ksa dks Li"V dhft,A

24. (a) (i) On the given political outline map of India, the place is shown by  No. 1, where
Congress was split in 1907. Identify the place and name it on the line drawn.

(ii) On the same map  shade and name the state where Jallianwala Bagh
incident occurred. 1+1=2

(b) On the given political outline map of India,  four  geographical features A, B, C
and D are marked. Identify these features with the help of the map key and
write their correct names on the line marked against each in the map. 4×1=4

OR
On the given political outline map of India locate and label the following features : 4×1=4
(i) Kanpur - Cotton Textile Centre
(ii) Kaiga - Nuclear Power Station
(iii) Haldia - Oil Refinery
(iv) Kandla - Seaport
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(v) (i) fn, x, HkkjrHkkjrHkkjrHkkjrHkkjr ds jktuhfrd js[kk&ekufp=k esa la[;k 1 }kjk ml LFkku dks fn[kk;k x;k
gS tgk¡ 1907 esa dkaxzsl dk foHkktu gqvkA LFkku dks igpkfu, vkSj ml LFkku dk uke
ekufp=k ij [khaph xbZ js[kk ij fyf[k,A

(ii) blh ekufp=k ij ml jkT; dks Nk;kafdr dhft, vkSj mldk uke fyf[k, tgk¡ tfy;k¡okyk
ckx ?kVuk ?kVhA

(c) fn, x, HkkjrHkkjrHkkjrHkkjrHkkjr ds jktuhfrd js[kk&ekufp=k ij pkj HkkSxksfyd y{k.k d] [k] x vkSj ?k dks vafdr
fd;k x;k gSA ekufp=k esa nh xbZ dqath dh enn ls bu y{k.kksa dks igpkfu, vkSj muds lgh uke
ekufp=k ij nh xbZ js[kk ij fyf[k,A

vFkokvFkokvFkokvFkokvFkok
fn, x, HkkjrHkkjrHkkjrHkkjrHkkjr ds jktuhfrd js[kk&ekufp=k ij fuEufyf[kr y{k.kksa dh fLFkfr fn[kkb, vkSj muds
uke fyf[k, %
(i) dkuiqj —  lwrh oL=k dsUnz
(ii) dSxk —  ukfHkdh; 'kfDr dsUnz
(iii) gfYn;k — rsy ifj"dj.k'kkyk
(iv) dk¡Myk — leqnzhiÙku

Note : The following question is for the Blind Candidates only in lieu of Q.  No. 24
(a) and (b). 6×1=6

(i) Name the State where Jallianwala incident occurred.

(ii) Name the place where Congress was split in 1907.

(iii) Which is the leading coffee producing state ?

(iv) Which is the eastern terminal station of ‘East-West Corridor’ ?

(v) Name the international air-port located in Gujarat State.

(vi) Name the Software Technology Park located in Uttar Pradesh.

uksV %uksV %uksV %uksV %uksV % fuEufyf[kr iz'u dsoy n`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 24 ¼v½ vkSj ¼c½ ds LFkku

ij gSA

(i) tfy;k¡okyk ckx ?kVuk fdl jkT; esa ?kfVr gqbZ \

(ii) ml LFkku dk uke crkb, tgk¡ lu~ 1907 esa dkaxzsl dk foHkktu gqvkA

(iii) dgok dk lcls izeq[k mRiknd jkT; dkSu lk gS \

(iv) ^iwoZ&if'pe xfy;kjs* dk vfUre iwohZ LVs'ku dkSu lk gS \

(v) xqtjkr jkT; esa LFkkfir vUrjkZ"Vªh; ok;qiÙku dk uke crkb,A

(vi) mÙkj izns'k esa fLFkr lk¶Vos;j izkS|ksfxdh ikdZ dk uke crkb,A
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